J. of Ramanujan Society of Mathematics and Mathematical Sciences Vol. 10, No. 2 (2023), pp. 29-36

DOI: 10.56827/JRSMMS.2023.1002.2

ISSN (Online): 2582-5461 ISSN (Print): 2319-1023

ON ROGERS-RAMANUJAN-SLATER TYPE THETA FUNCTION IDENTITY

Jian Cao, Sama Arjika* and M. P. Chaudhary**

School of Mathematics, Hangzhou Normal University, Hangzhou City 311121, Zhejiang Province, People's Republic of CHINA

E-mail: 21caojian@hznu.edu.cn

*Department of Mathematics and Informatics, University of Agadez, Post Office Box: 199, Agadez, NIGER

E-mail : rjksama2008@gmail.com

**International Scientific Research and Welfare Organization (Albert Einstein Chair Professor of Mathematical Sciences) New Delhi 110018, INDIA

E-mail : dr.m.p.chaudhary@gmail.com

(Received: May 12, 2023 Accepted: Jun. 02, 2023 Published: Jun. 30, 2023)

Abstract: The main purpose of this article is to prove two Rogers–Ramanujan–Slater type theta function identities related to $\varphi(q)$ and $\phi_0(q)$, which were earlier investigated by two legendary mathematicians of their time. The results presented in this paper are motivated essentially by recent works of Cao *et al.* (see [5]).

Keywords and Phrases: Theta function, Rogers-Ramanujan-Slater identity, Jacobi's triple-product identity.

2020 Mathematics Subject Classification: Primary 05A30, 11B65, 33D15, 33D45; Secondary 33D60, 39A13, 39B32.

1. Introduction, Definitions and Preliminaries

Throughout this paper, we refer to [5, 6] for definitions and notations. We also suppose that 0 < q < 1. For complex numbers a, the q-shifted factorials are defined by

$$(a;q)_0 := 1, \quad (a;q)_n = \prod_{k=0}^{n-1} (1 - aq^k) \quad \text{and} \quad (a;q)_\infty := \prod_{k=0}^{\infty} (1 - aq^k), \qquad (1)$$

where (see, for example, [6] and [10])

$$(a;q)_n = \frac{(a;q)_\infty}{(aq^n;q)_\infty}.$$

Here, in our present investigation, we are mainly concerned with the homogeneous version of the Cauchy identity or the following q-binomial theorem (see, for example, [6], [10] and [12]):

$$\sum_{k=0}^{\infty} \frac{(a;q)_k}{(q;q)_k} z^k = \frac{(az;q)_{\infty}}{(z;q)_{\infty}} \qquad (|z|<1).$$
(2)

Upon further setting a = 0, the relation (2) becomes Euler's identity (see, for example, [6]):

$$\sum_{k=0}^{\infty} \frac{z^k}{(q;q)_k} = \frac{1}{(z;q)_{\infty}} \qquad (|z|<1)$$
(3)

and its inverse relation given below [6]:

$$\sum_{k=0}^{\infty} \frac{(-1)^k q^{\binom{k}{2}}}{(q;q)_k} z^k = (z;q)_{\infty}.$$
(4)

Based upon the q-binomial theorem (2) and Heine's transformations, Srivastava *et al.* [11] have considered the function (8) and established a set of two presumably new theta-function identities (see, for details, [11]). Ramanujan (see [8] and [9]) defined the general theta function:

$$f(a,b) = 1 + \sum_{n=1}^{\infty} (ab)^{\frac{n(n-1)}{2}} (a^n + b^n) \quad |ab| < 1.$$
(5)

He also rediscovered Jacobi's famous triple-product identity which, in Ramanujan's notation, is given by (see [4, p.35, Entry 19]):

$$f(a,b) = (-a,ab)_{\infty}(-b;ab)_{\infty}(ab;ab)_{\infty}.$$
(6)

Equivalently, we have [7]:

$$\sum_{n=-\infty}^{\infty} q^{n^2} z^n = (q^2; q^2)_{\infty} (-zq; q^2)_{\infty} \left(-\frac{q}{z}; q^2\right)_{\infty}, \quad (|q| < 1, \ z \neq 0).$$
(7)

Several q-series identities, which emerge naturally from Jacobi's triple-product identity (6), are worthy of note here (see, for details, [4, pp. 36-37, Entry 22]):

$$\varphi(q) := \sum_{n=-\infty}^{\infty} q^{n^2} = (q^2; q^2)_{\infty} \{ (-q; q^2)_{\infty} \}^2 = \frac{(-q; q^2)_{\infty} (q^2; q^2)_{\infty}}{(q; q^2)_{\infty} (-q^2; q^2)_{\infty}}, \tag{8}$$

and

$$\psi(q) := f(q, q^3) = \sum_{n=0}^{\infty} q^{\frac{n(n+1)}{2}} = \frac{(q^2; q^2)_{\infty}}{(q; q^2)_{\infty}}.$$
(9)

Upon setting q = -q in (8), we obtain, $\varphi(-q) = \frac{(q;q)_{\infty}}{(-q;q)_{\infty}}$. In [1, Corollary 7.9, p.113], Andrews proved that for |q| < 1.

$$G(q) = \sum_{n=0}^{\infty} \frac{q^{n^2}}{(q;q)_n} = \frac{1}{(q,q^4;q^5)_{\infty}}.$$
(10)

In this paper, we will use one of the mock theta ϕ_0 defined in [13]:

$$\phi_0(q) = \sum_{n=0}^{\infty} q^{n^2} (-q; q^2)_n.$$
(11)

Replacing q by $-q^2$, we obtain:

$$\phi_0(-q^2) = \sum_{n=0}^{\infty} (-1)^n q^{2n^2} (q^2; q^4)_n.$$

Proposition 1. In [5, Theorem 1, Eq. (14)], if $\varphi(q)$ and G(q) are defined as in (8) and (10), then the following assertion holds true:

$$\sum_{n=0}^{\infty} \frac{q^{n^2}}{(-q;q)_n} + \varphi(-q) \prod_{n=1}^{\infty} \frac{1}{(1-q^{5n-1})(1-q^{5n-4})} = 2G(-q)\varphi(q).$$
(12)

Later George E Andrews observed that when we extend the sum to include negative values of n, the first infinite product vanishes, but the second one does

not; and he further suggested that the error in the second product can correct by taking into account the new terms when it extend the sum to-infinity. We present the correct form of (12) in the following assertion (13) of Theorem 1. He also pointed out that the formula (13) is precisely the one given by Watson [13, p. 285].

2. Main Theorems

In this section, we establish two Rogers–Ramanujan–Slater type theta function identity.

Theorem 1. If $\varphi(q)$ and $\phi_0(q^2)$ are defined as in (8) and (11), then each of the following assertion holds true:

$$\sum_{n=0}^{\infty} \frac{q^{n^2}}{(-q;q)_n} + \varphi(-q) \prod_{n=1}^{\infty} \frac{1}{(1-q^{5n-1})(1-q^{5n-4})} = 2\phi_0(-q^2), \tag{13}$$

and

$$\sum_{n=0}^{\infty} \frac{q^n}{(-q;q)_n} + \varphi(-q) \sum_{n=0}^{\infty} \frac{q^n}{(q;q)_n} = 2.$$
 (14)

Proof. We first prove the assertion (13). Let us assume that an empty product is interpreted to be unity. Dividing by $\varphi(-q)$ the left hand side of (13), we get:

$$\frac{(-q;q)_{\infty}}{(q;q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n^2}}{(-q;q)_n} + \prod_{n=1}^{\infty} \frac{1}{(1-q^{5n-1})(1-q^{5n-4})} by(10)$$

$$= \frac{(-q;q)_{\infty}}{(q;q)_{\infty}} \sum_{n=0}^{\infty} \frac{q^{n^2}}{(-q;q)_n} + \sum_{n=0}^{\infty} \frac{q^{n^2}}{(1-q)(1-q^2)\cdots(1-q^n)}$$

$$= (-q;q)_{\infty} \sum_{n=0}^{\infty} q^{n^2} \left\{ \frac{1}{(q;q)_{\infty}(-q;q)_n} + \frac{1}{(-q;q)_{\infty}(q;q)_n} \right\}.$$
(15)

Upon using the fact that

$$(q;q)_{\infty} = (q;q)_n (q^{1+n};q)_{\infty}, \ (-q;q)_{\infty} = (-q;q)_n (-q^{1+n};q)_{\infty}$$

and

$$(q, -q, q)_n = (q^2, q^2)_n,$$

the right hand side of (15) reads:

$$(-q;q)_{\infty} \sum_{n=0}^{\infty} \frac{q^{n^2}}{(q^2;q^2)_n} \left\{ \frac{1}{(q^{1+n};q)_{\infty}} + \frac{1}{(-q^{1+n};q)_{\infty}} \right\}.$$
 (16)

Applying (3), equation (16) becomes:

$$(-q;q)_{\infty} \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{q^{n^2}(q^{1+n})^k}{(q^2;q^2)_n(q;q)_k} [1+(-1)^k]$$

Next, taking the upper signs, so that for k = 2k, we get:

$$(-q;q)_{\infty} \sum_{n=0}^{\infty} \sum_{k=0}^{\infty} \frac{q^{n^{2}} q^{2k+2nk}}{(q^{2};q^{2})_{n}(q;q)_{2k}} = 2(-q;q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{2k}}{(q;q)_{2k}} \sum_{n=0}^{\infty} \frac{q^{n^{2}-n}}{(q^{2};q^{2})_{n}} \left(q^{2k+1}\right)^{n}$$
$$= 2(-q;q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{2k}}{(q;q)_{2k}} (-q^{2k+1};q^{2})_{\infty}$$
$$= 2\frac{(-q;q)_{\infty}}{(q;q^{2})_{\infty}} \sum_{k=0}^{\infty} \frac{q^{2k}}{(q^{2};q^{2})_{k}} (q^{2k+1}, -q^{2k+1};q^{2})_{\infty}.$$
(17)

where we have introduced

$$1 = \frac{(q;q^2)_k (q^{2k+1};q^2)_\infty}{(q;q^2)_\infty}.$$
(18)

Further, if we substitute

$$(-q^{2k+1}, q^{2k+1}; q^2)_{\infty} = (q^{4k+2}; q^4)_{\infty}$$

in the right hand side of (17), we obtain:

$$2\frac{(-q;q)_{\infty}}{(q;q^2)_{\infty}}\sum_{k=0}^{\infty}\frac{q^{2k}}{(q^2;q^2)_k}(q^{4k+2};q^4)_{\infty}.$$

According to equation (4), the above relation becomes:

$$2\frac{(-q;q)_{\infty}}{(q;q^2)_{\infty}}\sum_{k=0}^{\infty}\sum_{n=0}^{\infty}\frac{(-1)^n q^{2n^2-2n+n(4k+2)+2k}}{(q^4;q^4)_n(q^2;q^2)_k}$$
$$=2\frac{(-q;q)_{\infty}}{(q;q^2)_{\infty}}\sum_{n=0}^{\infty}\frac{(-1)^n q^{2n^2}}{(q^4;q^4)_n}\sum_{k=0}^{\infty}\frac{q^{k(4n+2)}}{(q^2;q^2)_k}$$
$$=2\frac{(-q;q)_{\infty}}{(q;q^2)_{\infty}}\sum_{n=0}^{\infty}\frac{(-1)^n q^{2n^2}}{(q^4;q^4)_n}\frac{1}{(q^{4n+2};q^2)_{\infty}}.$$

Using the identity $(q^2; q^2)_{\infty} = (q^2; q^2)_{2n} (q^{4n+2}; q^2)_{\infty}$, we obtain:

$$2\frac{(-q;q)_{\infty}}{(q;q^{2})_{\infty}}\sum_{n=0}^{\infty}\frac{(-1)^{n}q^{2n^{2}}}{(q^{4};q^{4})_{n}}\frac{1}{(q^{4n+2};q^{2})_{\infty}}$$
$$=2\frac{(-q;q)_{\infty}}{(q;q^{2})_{\infty}(q^{2};q^{2})_{\infty}}\sum_{n=0}^{\infty}\frac{(-1)^{n}q^{2n^{2}}(q^{2};q^{2})_{2n}}{(q^{4};q^{4})_{n}}$$
$$=2\frac{(-q;q)_{\infty}}{(q;q)_{\infty}}\sum_{n=0}^{\infty}(-1)^{n}q^{2n^{2}}(q^{2};q^{4})_{n}=2\frac{\phi_{0}(-q^{2})}{\varphi(-q)}.$$

After summarizing the above calculation, we obtain:

$$\frac{1}{\varphi(-q)}\sum_{n=0}^{\infty}\frac{q^{n^2}}{(-q;q)_n} + \prod_{n=1}^{\infty}\frac{1}{(1-q^{5n-1})(1-q^{5n-4})} = 2\frac{\phi_0(-q^2)}{\varphi(-q)}.$$

Hence we achieves the proof of (13).

Next, we attempt to prove our second assertion (14). The left hand side of (14) reads as;

$$(q;q)_{\infty} \left\{ \sum_{n=0}^{\infty} \frac{q^{n}}{(q;q)_{\infty}(-q;q)_{n}} + \sum_{n=0}^{\infty} \frac{q^{n}}{(-q;q)_{\infty}(q;q)_{n}} \right\}$$

$$= (q;q)_{\infty} \sum_{n=0}^{\infty} \frac{q^{n}}{(q^{2};q^{2})_{n}} \left(\frac{1}{(q^{1+n};q)_{\infty}} + \frac{1}{(-q^{1+n};q)_{\infty}} \right)$$

$$= (q;q)_{\infty} \sum_{n,k=0}^{\infty} \frac{q^{n+k(1+n)}}{(q;q)_{k} (q^{2};q^{2})_{n}} \left(1 + (-1)^{k} \right)$$

$$= 2(q;q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{2k}}{(q;q)_{2k}} \sum_{n=0}^{\infty} \frac{q^{n(1+2k)}}{(q^{2};q^{2})_{n}}$$

$$= 2(q;q)_{\infty} \sum_{k=0}^{\infty} \frac{q^{2k}}{(q;q)_{2k}} \frac{1}{(q^{1+2k};q^{2})_{\infty}}.$$

$$(19)$$

Applying the identity (18), the right hand side of (19) gives:

$$2\frac{(q;q)_{\infty}}{(q;q^2)_{\infty}}\sum_{k=0}^{\infty}\frac{q^{2k}}{(q;q)_{2k}}(q;q^2)_k = 2\frac{(q;q)_{\infty}}{(q;q^2)_{\infty}}\sum_{k=0}^{\infty}\frac{q^{2k}}{(q^2;q^2)_k} = 2$$

which completes the proof of the assertion (2.2). We thus have completed our proof of the above Theorem 1.

Remark 1. We note that if we simplify our result (14) of Theorem 1, then it reduces as result (2.2) in [2, p.2, Eq.(2.2)] which can be deduced from a special case of Heine's transformation of q-hypergeometric series [1, p.19, Cor. 2.3]. Further, (2.4) in [2] reveals that this identity is especially simple and can be proved by a mathematical induction.

3. Concluding Remarks and Observations

Our article is motivated by the Rogers-Ramanujan-Slater type theta function identities related to $\varphi(q)$ and $\phi_0(q)$. Here, we have investigated about two identities, which were earlier investigated by two legendary mathematicians of their time. The identity (13) of Theorem 1 was first proved by G.N.Watson in 1937 [13], and here in this article we proposed another proof. The identity (2.2)[2, p.2, Eq.(2.2)] was first proved by G. E. Andrews in 1997, which can be found after simplification of our identity (14) of Theorem 1.

Acknowledgements

The authors are thankful to Prof. George E. Andrews for his valuable suggestions, which improved the presentation and accuracy of this article. The research work of M. P. Chaudhary was supported through a major research project of National Board of Higher Mathematics (NBHM) of the Department of Atomic Energy (DAE), Government of India by its sanction letter Ref. No. 02011/12/2020 NBHM(R.P.)/R D II/7867, dated 19th October 2020.

References

- Andrews, G. E., The Theory of Partitions, Addison-Wesley, Reading, MA, (1976); reissued: Cambridge University Press, Cambridge, 1998.
- [2] Andrews, G. E., Simplicity and surprise in Ramanujan's lost notebook, Amer. Math. Monthly, 104 (1997), 918-925.
- [3] Andrews, G. E. and Berndt, Bruce C., Ramanujan's Lost Notebook, Springers Part I, 2005.
- [4] Berndt, B. C., Ramanujan's Notebooks- Part III, Springer-Verlag, Berlin, Heidelberg and New York, 1991.
- [5] Cao, J., Arjika, S. and Chaudhary, M. P., A note on Rogers-Ramanujan-Slater type theta function identity, J. of Ramanujan Society of Mathematics and Mathematical Sciences, 10 (1) (2022), 31-38.

- [6] Gasper, G. and Rahman, M., Basic Hypergeometric Series (with a Foreword by Richard Askey), Encyclopedia of Mathematics and Its Applications, Vol. 35, Cambridge University Press, Cambridge, New York, Port Chester, Melbourne and Sydney, 1990; Second edition, Encyclopedia of Mathematics and Its Applications, Vol. 96, Cambridge University Press, Cambridge, London and New York, 2004.
- [7] Jacobi, C. G. J., Fundamenta Nova Theoriae Functionum Ellipticarum (Regiomonti, Sumtibus Fratrum Bornträger, Königsberg, Germany, 1829; Reprinted in Gesammelte Mathematische Werke 1 (1829), 497-538), American Mathematical Society, Providence, Rhode Island, (1969), 97-239.
- [8] Ramanujan, S., Notebooks, Tata Institute of Fundamental Research, Bombay, Vols. 1 and 2, 1957.
- [9] Ramanujan, S., The Lost Notebook and Other Unpublished Papers, Narosa Publishing House, New Delhi, 1988.
- [10] Slater, L. J., Generalized Hypergeometric Functions, Cambridge University Press, Cambridge, London and New York, 1966.
- [11] Srivastava, H. M., Chaudhary M. P., and Wakene, F. K., A Family of Theta-Function Identities Based Upon q-Binomial Theorem and Heine's Transformations, Montes Taurus J. Pure Appl. Math., 2 (2) (2020), 1-6.
- [12] Srivastava, H. M. and Karlsson, P. W., Multiple Gaussian Hypergeometric Series, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, (1985).
- [13] Watson, G. N., Mock theta functions (2), Proc. London Math. Soc., 42 (1937), 274-304.